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Vo8 Uk =3 FERR AL (LI RT 6. 50 1.50 0. 00 0.75 112.0 0.0 0. 112. 0|7 2 7 7 /v ik
100. 9 46 ~  101. 30 6. 50 4. 50 0.75
P VR = 3R FERR L 1 LT 7.00 1.50 0. 50 1.00 100. 0 0.0 0. 100. 0|7 A2 7 7 )L ik
101. 0 30 ~  101. 30 9. 00 2. 30 0.75
{8 I = 3 LR L T 7.50 3. 00 2. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L i
101. 1 30 ~  101. 24 7.00 2. 80 1. 00
P8 R = A SRR | LT 7.00 7.30 1. 50 0.90 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
101. 2 24 ~  101. 30 7.00 2. 30 1. 20
Ve U = 38 JLAR AL (LT 7.00 3.20 3.20 1. 00 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
101. 3 30 ~  101. 36 7.00 2. 50 1. 30
P R =2 FLAR AL (LT 2. 80 0. 00 0. 00 0. 00 0.0 0.0 7. T.6|7 A7 7 v MNlEE (BRI 1 246
101. 3 90 ~  101. 4 2. 80 0. 00 0. 00
Ve I =3 SERR AL (LI RT 7.00 3. 40 3. 50 1. 00 100. 0 0.0 0. 100. 0| 7 2 7 7 /L h&dk
101. 4 36 ~ 101 29 7.00 2. 00 1. 40
e R = 3 FERR L | LI RT 1. 80 0. 00 0. 00 0. 00 0.0 0.0 7. .47 A7 7 v MMl (R 2 26
101.5 17 ~  101. 22 2. 00 0. 00 1. 80
Ve Uk = FERR AL (LI RT 7.00 2. 00 1.50 1.00 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bt
101.5 29 ~  101. 30 6. 80 1. 50 1. 50
Vg Uk = FERR AL (LI RT 2.80 0. 00 0. 00 0.00 0.0 0.0 7. 7.9(7 27 7 v Ml |3 6
101.5 72 ~  101. 80 2. 80 0. 00 0. 00
P VR = 3R FERR L 1 LT 7.00 3.00 2. 00 0.50 115.0 0.0 0. 115. 0|7 A2 7 7 )b ik
101. 6 30 ~  101. 45 5. 00 2. 50 3.50
{8 IR = 3 L AR L T 7.00 3. 00 0. 00 1. 00 100. 0 0.0 0. 100. 0|7 2 7 7 )L i
101. 7 45 ~  101. 47 6. 50 2. 00 4. 50
P8 R = A SRR LT 3.25 0. 00 0. 00 0.75 48.0 0.0 0. 48. O|HEAK P Al 2
101. 8 47 ~  101. 95 3.50 2. 30 1. 00
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Vo8 Uk =3 FERR AL (LI RT 0. 00 0. 00 1.25 100. 0 0.0 100. O Pk Pk
101. 8 95 ~  102. 3. 3.50 0.55
P VR = 3R FERR L 1 LT 3. 0. 00 0. 00 0.75 38.0 0.0 38. O HE K ML
102. 0 19 ~ 102 3. 3. 00 0.55
P8 U =38 FERR AL (LI HT 3. 0. 00 0. 00 0.75 62.0 0.0 62. 0|7 A7 7 )L bk
102. 0 60 ~  102. 3. 3. 00 0.55
Ve U =3 JEBR AL (LT 3. 0. 00 0. 00 0.75 72.0 0.0 72.0(7 A7 7L hAf%E
102. 1 22 ~  102. 3. 1. 90 0.55
Ve U = 38 JLAR AL (LT 3. 0. 00 0. 00 0.75 28.0 0.0 28. O|HEA &l 2
102. 1 94 ~  102. 3. 1. 90 0.55
Vg W =2 FLAR AL (LT 3. 2.00 0. 00 0.50 100. 0 0.0 100. O 7k M2
102. 2 30 ~ 102 3. 3. 00 0.55
Ve I =2 SERR AL (LI RT 3. 0. 00 0. 00 2.25 116.0 0.0 116. 0| 7 2 7 7 /L &k
102. 3 20 ~  102. 3. 2. 30 0. 45
Ve VR = 2 SRR L 1 LT 3. 0. 00 0. 00 1.25 6.0 0.0 6. 0|7 A7 7 v M
102.4 24~ 102. 3. 1.95 0. 50
Ve Uk = FERR AL (LI RT 3. 2. 80 0. 00 1.00 167.0 0.0 167. 0|7 2 7 7 /L b Elidk
102. 4 30 ~  102. 3. 0. 00 1. 00
Vg Uk =3 FERR AL (LI RT 3. 2.85 1.80 1.00 0.0 0.0 20. 1|7 A2 7 7 /v NadE [T
102.4 197 ~  102. 6. 2. 00 1. 00
P R = 3R FERR L 1 LT 3. 1.80 1.80 1.00 103.9 0.0 103. 9|7 A 7 7 )L &k
102.4 218 ~  102. 6. 2. 00 1. 00
P8 U =38 FERR AL (LI BT 6. 1.80 1.80 1. 00 90. 0 0.0 90. 0|7 A7 7 )L bk
102.4 321 ~  102. 6. 2. 00 1. 00
P8 U =3 JEBR AL (LI BT 6. 2. 80 0. 00 1. 00 7.0 0.0 44.0(7 A7 7 v DAL |BEG
102.4 411 ~ 102, 6. 2. 00 1. 00
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Vo8 Uk =3 FERR AL (LI RT 6. 50 2.00 2. 60 1.00 72.0 0.0 0. 72.0|7 A7 7L kAl
102.4 455 ~  102. 526 6. 50 2. 00 1. 00

P VR = 3R FERR L 1 LT 6. 50 2.00 0. 00 1.00 88.0 0.0 0. 88.0|7 A 7 7 /L kit
102.4 526 ~  102. 614 9.75 2. 00 1. 00

{8 R = 3 LR L T 9.75 4. 00 0. 00 1. 00 71.0 0.0 0. T1.0| 7 A7 7 /b bk
102.4 614 ~  103. 42 6. 50 2. 00 1. 00

P8 R = A SRR | LT 6. 50 2. 60 0. 00 1. 00 78.0 0.0 0. 78.0(7 A7 7 /L b A%k
103. 0 42 ~  103. 8 6. 50 2. 00 1. 00

Ve U = 38 JLAR AL (LT 6. 50 4. 00 0. 00 1. 00 81.0 0.0 0. 81.0|7 A7 7 )L M
103. 1 8 ~  103. 89 6. 50 3. 00 1. 00

P R =3 FLAR AL (LT 6. 50 0. 00 1.60 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /L &k
103. 1 89 ~  103. 11 6. 50 0. 00 0.75

Ve I =2 SERR AL (LI RT 6. 50 0. 00 1.60 0.75 79. 1 0.0 0. 79. 1|7 A7 7L bk
103. 3 11 ~  103. 2 6. 50 0. 00 0.75

Ve W = FERR AL (LI RT 6. 50 0. 00 1.60 0.75 0.0 0.0 40. 40. 97 2 7 7 v M 306G
103. 4 2~  103. 42 6. 50 0. 00 0.75

Ve Uk =38 FERR AL (LI RT 6. 50 0. 00 1.60 0.75 82.0 0.0 0. 82.0|7 A7 7 )L EfdE
103. 4 42 ~ 103, 20 6. 50 0. 00 0.75

Vg Uk =3 FERR AL (LI RT 6. 50 0. 00 1.60 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 /b bk
103. 5 20 ~  103. 22 6. 50 0. 00 0.75

P R = 3R FERR L 1 LT 6. 50 0. 00 1.60 0.75 80. 0 0.0 0. 80. 0|7 A 7 7 /L kit
103. 6 20 ~  103. 100 6. 50 4. 00 0.75

{8 I = 3 L AR L T 6. 50 4. 00 3.80 1. 80 53.0 0.0 0. 53.0| 7 A 7 7 /L b sk
103.6 100 ~  103. 44 6. 50 5. 00 2. 00

P8 R = A SERR L | LT 3.25 3.20 2. 00 0.75 115.0 0.0 0. 115. 0|7 A7 7 )L bl
103. 7 44 ~  103. 60 3.25 2. 00 1.75
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Vo8 Uk =3 FERR AL (LI RT 3.25 2. 80 0. 00 0.50 49.0 0.0 0.0 49.0(7 2 7 7 /v Mlidk
103. 8 60 ~  103.8 108 3.25 2. 00 0.75
P VR = 3R FERR L 1 LT 3.25 0. 00 0. 00 0.95 0.0 0.0 34.0 34. 0|7 A2 7 7 L NS [Boes
103.8 108 ~  103.8 143 3.25 1. 50 0.95
P8 U =38 FERR AL (LI HT 3.25 0. 00 0. 00 3.00 74.0 0.0 0.0 T4.0| 7 A7 7 /L bk
103.8 143 ~  104.0 21 3.25 1. 00 2.25
P78 U = JERR AL (LI BT 3.25 0. 00 0. 00 2.65 100. 0 0.0 0.0 100. O[HE7K P Ef%L
104. 0 21 ~  104.1 22 3.25 1. 40 2.15
Ve U = 38 JLAR AL (LT 3.25 0. 00 0. 00 1.25 95.0 0.0 0.0 95. O|HEA &l 2
104. 1 22 ~  104.2 23 3.25 1.35 1.65
P R =3 FLAR AL (LT 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. O|HE7K PR Ef%E
104. 2 23 ~  104.3 22 3.25 1. 00 0. 50
Ve I =2 SERR AL (LI AT 3.25 0. 00 0. 00 1.25 105. 0 0.0 0.0 105. 0|7k M2
104. 3 22 ~  104.4 22 3.25 1. 00 0. 50
Ve VR = 2 SRR L 1 LT 3.25 0. 00 0. 00 1.00 100. 0 0.0 0.0 100. O|HE/KMEAf%E
104. 4 22 ~  104.5 21 3.25 0. 00 1.25
Ve Uk =38 FERR AL (LI RT 3.25 0. 00 0. 00 0.95 100. 0 0.0 0.0 100. O HE/k P Ak
104. 5 21 ~  104.6 10 3.25 0. 00 2.75
Vo8 Uk = FERR AL (LI AT 3.25 1.50 0. 00 1.00 100. 0 0.0 0.0 100. O|HE/K P& %S
104. 6 10~  104.7 11 3.25 1. 30 1.65
P R = 3R FERR L 1 LT 3.25 1.50 0. 00 1.25 100. 0 0.0 0.0 100. O HEAC M &2
104. 7 11 ~  104.8 3 3.25 1. 30 1.65
P8 U =38 FERR AL (LI BT 3.25 0. 00 0. 00 4.25 88. 6 0.0 17. 4 106. O|HEKPE&f%E LA
104. 8 3~  104.9 28 3.25 0. 00 4.75
P8 R = A SRR | LT 3.25 3.00 0. 00 0.50 13.0 0.0 0.0 13. O|HEAK A%
104. 9 28 ~  104.9 41 3.25 0. 00 0. 50
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Vo8 Uk =3 FERR AL (LI RT 3.25 0. 00 0. 00 1.45 131.0 0.0 0. 131. O HEA M A2
104. 9 41 ~  105. 64 3.25 0. 00 1.28

P VR = 3R FERR L 1 LT 3.25 0. 00 0. 00 1.45 49.0 0.0 0. 49. 0|7 A7 7L bk
105. 0 64 ~  105. 25 3.25 0. 00 1.28

P8 U =38 FERR AL (LI HT 3.25 3.00 0. 00 0.75 84.0 0.0 0. 84.0|7 A7 7 )L bk
105. 1 25 ~  105. 114 3.25 0. 00 1. 00

Ve U =3 JEBR AL (LT 6. 50 2. 00 1.00 1. 00 83.0 0.0 0. 83.0|7 A7 7 )L M
105.1 114 ~  105. 50 9.75 2. 00 1. 00

V8 IR S A 6. 50 2. 80 3. 80 1. 00 130. 0 0.0 0. 130. 0|7 A7 7 )L bl
105. 2 50 ~  105. 12 6. 50 2. 00 1. 00

P I A T 6. 50 2. 50 1.00 1.00 135.0 0.0 0. 135. 0| 7 2 7 7 /b &k
105. 4 12 ~  105. 48 6. 50 3. 00 1. 00

(XY Siini 3.25 0. 00 0. 00 0. 50 65.0 0.0 0. 65.0|7 A 7 7 /L b &Lk
105. 5 48 ~  105. 17 6. 50 2. 00 1. 00

Ve B ST 3.25 0. 00 0. 00 0. 50 61.9 0.0 0. 61.9|7 A7 7 /L b L
105. 6 17 ~ 105, 79 6. 50 2. 30 1. 00

Ve R S A T 3.25 0. 00 0. 00 0.75 0.0 0.0 18. 18. 1|7 27 7 /L Mafidk |nsis
105. 6 79 ~  105. 97 6. 50 2. 30 1. 00

Ve U Sttt 3.25 0. 00 0. 00 0. 50 53.0 0.0 0. 53.0| 7 2 7 7 /L sk
105. 6 97 ~  105. 47 6. 50 2. 00 1. 00

Ve B Sttt 3.25 0. 00 0. 00 0. 90 48.0 0.0 0. 48. 0|7 2 7 7 /v Nk
105. 7 A7 ~  105. 95 9.75 2. 00 1. 00

VB R At 6. 50 0. 00 0. 00 0.75 32.0 0.0 0. 32.0(7 27 7 /L bk
105. 7 95 ~  105. 26 3.25 2. 00 1. 50

Ve R S A 3.25 0. 00 0. 00 1. 00 61.0 0.0 0. 61.0|7 A7 7 /L b &Lk
105. 8 26 ~  105. 87 3.25 2.50 2. 00
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Ve U Sttt 3.25 2. 50 11. 50 0. 50 49.0 0.0 0.0 49. 0|7 A7 7 )L EdE
105. 8 87 ~  105.9 36 6. 50 2.50 2. 00

Ve U Sttt 6. 50 2. 50 10. 50 3. 00 33.0 0.0 0.0 33.0|7 &2 7 7 L ik
105. 9 36 ~  105.9 69 6. 50 2. 50 2.25

Ve B BT 6. 50 2.50 6. 25 2. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
105. 9 69 ~  106.0 73 6. 50 2.50 2.25

Ve R S At 6. 50 2.25 3.25 3.00 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
106. 0 73 ~  106.1 66 6. 50 2. 50 2.50

V8 IR S A 6. 50 2.25 1.50 2. 00 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
106. 1 66 ~  106.2 73 6. 50 2.50 1. 50

Ve IR S A 6. 50 2. 50 1.50 1.50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L &k
106. 2 73 ~  106.3 73 6. 50 2.50 1. 80

P8 I Rt 6. 50 0. 00 1.50 1.50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L h&dk
106. 3 73 ~  106.4 72 6. 50 0. 00 1. 80

Ve I Rttt 6. 50 6. 00 1.50 1.50 80. 0 0.0 0.0 80.0|7 A7 7 )L EfdE
106. 4 72 ~  106.5 53 6. 50 6. 00 1. 00

Ve B sttt 6. 50 6. 00 1.50 1.25 120. 0 0.0 0.0 120. 0|7 2 7 7 /v bk
106. 5 53 ~  106.6 74 6. 50 5. 00 1. 00

Ve B Rttt 6. 50 6. 00 1.50 1.30 62. 0 0.0 0.0 62.0|7 27 7 )L EdE
106. 6 74 ~  106.7 35 6. 50 2.75 3. 00

Ve B Sttt 3.25 0. 00 0. 00 1.50 67.0 0.0 0.0 67.0(7 27 7 /v Nk
106. 7 35 ~  106.8 12 3.25 2. 50 1. 00

Ve B st 3.25 2. 00 0. 00 0.50 71.0 0.0 0.0 71.0(7 27 7 /b bk
106. 8 12 ~  106.8 88 3.25 2.10 0. 50

Ve R S A 3.25 2. 20 0. 00 0. 50 29.0 0.0 0.0 29. 0|7 A7 7L bk
106. 8 88 ~  106.9 11 3.25 2.10 0. 50
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Ve U Sttt 3.25 2. 00 0. 00 0. 50 81.0 0.0 0.0 81.0|7 A7 7 )L sk
106. 9 11 ~  106.9 92 3.25 1. 40 0.50

Ve U Sttt 3.25 1.80 0. 00 0. 50 19.0 0.0 0.0 19.0| 7 27 7 /L s
106. 9 92 ~  107.0 4 3.25 1. 40 0. 50

Ve B BT 3.25 1. 30 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
107. 0 4~ 107.1 5 3.25 1. 15 0. 50

Ve R S At 3.25 2.15 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
107. 1 5~  107.2 6 3.25 1.15 0. 50

V8 IR S A 3.25 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
107. 2 6 ~ 107.3 13 3.25 2. 00 0. 50

Ve IR S A 3.25 2. 00 0. 00 0.70 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L &k
107. 3 13~  107.4 10 3.25 4. 00 0. 70

P8 I Rt 3.25 2. 30 0. 00 0.70 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L h&dk
107. 4 10 ~  107.5 8 3.25 2.15 0. 67

Ve I Rttt 3.25 3. 50 0. 00 0.70 32.0 0.0 0.0 32.0| 7 A7 7L b &%k
107. 5 8~ 107.5 40 3.25 2. 00 0.70

Ve B sttt 3.50 3. 50 0. 00 0. 50 114. 0 0.0 0.0 114. 0|7 2 7 7 /v bk
107. 5 40 ~  107.6 64 3. 50 3.50 0.50

Ve B Rttt 3.50 6. 00 0. 00 0. 50 46. 0 0.0 0.0 46. 0|7 A7 7 )L b EdE
107. 6 64 ~  107.6 110 3. 50 3.50 0. 50

Ve U Sttt 3.50 3.50 0. 00 0. 50 88.0 0.0 0.0 88.0(7 %27 7 /L Mk
107.6 110 ~  107.7 78 3. 50 3.50 0. 50

Ve B st 3.50 6. 00 0. 00 0. 50 263. 0 0.0 0.0 263. 0|7 2 7 7 /L Ak
107.7 78 ~  108.0 41 3. 50 3.50 0. 50

Ve R S A 3.50 3.80 0. 00 0. 50 148. 0 0.0 0.0 148. 0|7 A7 7 )L bl
108. 0 41 ~  108.1 87 3. 50 3.50 0. 50
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Ve U Sttt 3.50 4. 00 0. 00 0. 50 90. 0 0.0 0.0 90. 0|7 27 7 )L ik
108. 1 87 ~  108.2 70 3. 50 3.50 0.50

Ve U Sttt 3.50 3. 50 0. 00 0. 50 80. 0 0.0 0.0 80.0(7 =2 7 7 /L ek
108. 2 70 ~  108.3 61 3. 50 3.50 0. 50

Ve B BT 3.50 3.50 0. 00 0.75 90.0 0.0 0.0 90. 0|7 2 7 7 )L I
108. 3 61 ~ 108.4 63 3. 50 3.50 0.75

Ve R S At 3.25 2. 50 0. 00 0.75 49.0 0.0 0.0 49. 0|7 A 7 7 L bk
108.4 63~  108.5 11 3.25 1. 45 1. 30

V8 IR S A 3.25 3. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
108. 5 11 ~  108.6 8 3.25 3. 50 1.31

Ve IR S A 3.25 3. 00 0. 00 0. 80 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L &k
108. 6 8 ~  108.7 10 3.25 1. 80 1.25

(XY Siini 3.25 3.85 0. 00 0.75 54.0 0.0 0.0 54.0| 7 A7 7 )L b &%k
108. 7 10 ~  108.7 64 3.25 1. 45 1. 45

Ve I Rttt 3.50 2.25 0. 00 0. 50 74.0 0.0 0.0 T4.0| 7 A7 7L b &%k
108. 7 64 ~  108.8 49 3. 50 0. 00 0. 50

Ve B sttt 6. 00 0. 00 0. 00 0. 50 0.5 0.0 25.5 26.0(7 2 7 7 )b MEHEE |\
108. 8 49 ~  108.8 75 4. 00 0. 00 0. 50

Ve U Sttt 6. 00 0. 00 0. 00 0. 50 19.0 0.0 0.0 19. 0|7 2 7 7 )b s
108. 8 75 ~  108.8 94 4. 00 0. 00 0. 50

Ve B Sttt 3.25 2. 50 0. 00 0. 80 69. 0 0.0 0.0 69.0(7 2 7 7 /L Nk
108. 8 94 ~  108.9 48 3.25 2. 50 1. 00

Ve B St 3.25 2.50 0. 00 0. 80 60. 0 0.0 0.0 60. O|HEA 1 Efi 2
108. 9 48 ~  109.0 15 3.25 2. 00 1.25

Ve R S A 3.25 3.25 0. 00 0.75 82.0 0.0 0.0 82. O|HEA 1 Al 2
109. 0 15 ~  109.1 0 3.25 1.70 1.35
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Ve U Sttt 3.25 3.25 0. 00 0.75 18.0 0.0 0.0 18. 0|7 2 7 7 /b e
109. 1 0~  109.1 18 3.25 1. 70 1.35
Ve U Sttt 3.25 3. 10 0. 00 0. 65 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
109. 1 18 ~  109.2 17 3.25 1. 35 1.35
Ve B BT 3.25 2. 45 0. 00 0. 80 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
109. 2 17 ~  109.3 17 3.25 1. 50 1.25
Ve R S At 3.25 2. 90 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
109. 3 17 ~  109.4 18 3.25 1. 50 1.25
V8 IR S A 3.25 3. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
109. 4 18 ~  109.5 5 3.25 1.90 1. 40
Ve IR S A 3.25 3.30 0. 00 0.75 97.3 0.0 2.7 100. 0| 7 2 7 7 /b MaAE [whits
109. 5 5~  109.6 16 3.25 1.85 1. 40
P8 I Rt 3.50 2. 50 0. 00 1.00 40. 0 0.0 0.0 40. 0|7 A7 7 )L MEfdE
109. 6 16 ~  109.6 56 3. 50 2.10 1. 10
Ve I Rttt 3.50 2.50 0. 00 1. 00 4.0 0.0 0.0 4. 0| FEAk b4
109. 6 56 ~  109.7 34 3. 50 2.10 1. 10
Ve B ST 3.50 2. 50 0. 00 1.00 22.0 0.0 0.0 22.0|7 A7 7 )L MEfE
109. 7 34 ~  109.7 56 3. 50 2.10 1. 10
Ve B Sttt 3.50 0. 00 0. 00 3. 00 57.6 0.0 2.4 60. 0|7 A7 7 )L MEREE |G
109. 7 56 ~  109.8 16 3. 50 2. 50 1. 10
Ve B Sttt 3.50 0. 00 0. 00 3. 00 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /v &k
109. 8 16 ~  109.9 15 3. 50 2.10 0.75
Ve B st 3.50 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 )L i
109. 9 15~  110.0 10 3. 50 0. 00 1. 00
Ve R S A 3.50 0. 00 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
110. 0 10 ~  110.1 10 3. 50 0. 00 1.25
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Ve U Sttt 3.50 0. 90 0. 00 1.00 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
110. 1 10 ~  110.2 11 3. 50 0. 00 2.30
Ve U Sttt 3.50 0. 90 0. 00 1.00 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
110. 2 11 ~  110.3 10 3. 50 0. 00 2. 60
Ve B BT 3.50 2. 40 0. 00 1. 00 80.0 0.0 0.0 80. 0|7 2 7 7 /L I
110. 3 10 ~  110.3 90 3. 50 0. 00 2.65
Ve R S At 3. 50 2. 40 0. 00 1. 00 20.0 0.0 0.0 20. O|HEAK P &l 2
110. 3 90 ~  110.4 11 3. 50 0. 00 2.65
V8 IR S A 3.50 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. O[HE7K P Ef%E
110. 4 11 ~ 110.5 9 3. 50 2. 00 1. 00
Ve IR S A 3.50 0. 00 0. 00 1. 20 100. 0 0.0 0.0 100. O[HE7K PR Ef%E
110. 5 9~  110.6 10 3. 50 2.25 0.63
Ve R S A 3.50 0.00 0. 00 0.75 100. 0 0.0 0.0 100. O HEAPE&fLE
110. 6 10 ~  110.7 9 3. 50 2.25 1. 50
Ve I Rttt 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. O HE/k M2k
110.7 9~  110.8 8 3.25 2.26 1. 04
Ve B ST 3.25 0. 00 0. 00 1.02 100. 0 0.0 0.0 100. O HErk Pk
110. 8 8~  110.9 9 3.25 2.26 1. 02
Ve U Rttt 3.25 0. 00 0. 00 0. 80 100. 0 0.0 0.0 100. O Pk Pk
110.9 9~  111.0 10 3.25 2.29 1. 00
Ve B Sttt 3.25 0. 00 0. 00 1.00 100. 0 0.0 0.0 100. OHEKPE&H%E
111.0 10~  111.1 10 3.25 2. 40 1. 00
Ve R S A 3.25 0. 00 0. 00 1.15 100. 0 0.0 0.0 100. O HEAPEELE
111.1 10~  111.1 112 3.25 2.39 1. 00
Ve R S A 3.25 0. 00 0. 00 1. 07 100. 0 0.0 0.0 100. O HE7k M2
111.1 112 ~  111.3 11 3.25 2.30 0.97
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HOGE | A GE | oBER | B OF | B OB | hrxa 1% U it B

Ve U Sttt 3.25 0. 00 0. 00 1.08 100. 0 0.0 0.0 100. 0| Pk Pk
111.3 11~  111.4 11 3.25 2.55 0.99

Ve U Sttt 3.25 0. 00 0. 00 1.05 105. 0 0.0 0.0 105. 0| sk P&k
111.4 11 ~ 111.5 15 3.25 3.05 0.95

P8 R S A 6. 50 0. 00 0. 00 0.63 117.0 0.0 0.0 117. O[HEA L2
111.5 15~  111.6 64 3.25 2.10 0.63

Ve R S At 3.25 0.00 0. 00 1. 80 80.0 0.0 0.0 80. O|HE A &l 2
111.6 64 ~  111.7 45 3.25 2.50 0. 80

V8 IR S A 3.25 0. 00 0. 00 1.01 100. 0 0.0 0.0 100. 0| HE7k M2
111.7 45 ~  111.8 45 3.25 1.90 1. 00

Ve IR S A 3.25 0.00 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7k M2
111.8 45 ~  111.9 44 3.25 2.15 0.55

(XY Siini 3.25 0.00 0. 00 1.25 100. 0 0.0 0.0 100. O[HEAME&fLE
111.9 44 ~  112.0 46 3.25 4. 50 0.75

Ve B ST 3.25 0. 00 0. 00 0.78 100. 0 0.0 0.0 100. 0| HE/k P2k
112.0 46 ~  112.1 44 3.25 2. 00 0. 50

Ve B sttt 3.25 0. 00 0. 00 0.82 168. 8 0.0 0.0 168. 8| Pk Mk
112. 1 44 ~  112.2 90 3.25 2. 00 0.50

Ve U Sttt 3.25 0. 00 0. 00 0. 99 0.0 0.0 177.2 177. 2| Pk Pl
112.2 90 ~  112.4 22 3.25 2. 00 0.56
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B4 i CA & T 4 E R m | A BREL ORI, | BERER | Wt 7R i &
S R doiE | g | wd
(B b S, B A m  [(EB: BV, FETF0) nf

BRI 1 Z16 AR IR KT N A 7.6 2.8/ 0.0/ 0.0 45.6| P CH& 2000 |AJEfrE B THIR MEL
2.8/ 0.0/ 0.0 AT

BRI 2 51 CAERAL A IR KT N A 7.4 1.8 0.0l 0.0 29. 6| P CHf 2000 |T-14 BATHIR  HEL
2.0l 0.0l 1.8 B fdiAT

BRI 3 i SARRALE LR KT N A 7.9 2.8/ 0.0/ 0.0 47. 4| P CH& 2000 |AVEfTE [GEATHIR MEL
2.8/ 0.0l 0.0 B fdiAT

FelTHE (B2D) SRR INE 20.1] 7.0 3.3 1.3 236. 2| P CH& 2000 |BYEffE  |EBITHIR HEL
0.0] 0.0/ 0.3 B AfiAT

relTHE (R D) AR IR LT R INE 20.1] 0.0f 0.0/ 0.3 236. 2| P CH& 2001 |BYEffE  |EITHIR HEL
7.0l 3.3 1.3 B AT

FEE (kD) AR LR LT R N 32.0] 7.0 3.3 1.3 380. 8|HIAHAE 1998 |Bi&EfwE  [WITHIR HL
0.0 0.0 0.4 EA AT

FEE (To) AR LR AL LT R N 37.0] 0.0 0.0l 0.8 314. 5|HHIAHAE 1996 |Bi&fwiE  [@ITHIR HL
7.0l 0.0 0.8 EffiAT

s (R9) SARSLAR AL LT KRS N 40.9[ 7.0 0.0 0.5 317.0|P CH& 1989 |TL - 20 |@fTHIR ML
0.0l 0.0 0.3 AT

Sl (7 0) SARSLA AL LR RSN 40.9] 0.0 0.0/ 0.3 317.0|P CHE 1989 [TL-20 [@ITHIR ML
7.0l 0.0l 0.5 AT

MOCHE AR FLRRIL LT R R B 34.5| 3.5 0.0/ 0.5 276.0| P C#& 1987 |TL -20 [@frE ML
3.5 0.0l 0.5 HiAdAT

MO () AR SRR LT RS R B 34.0 0.0 0.0/ 0.2 417.5|P CH& 2006 [BYEfTE  [@AITHIR ML
7.0l 2.8 1.2 AT

(L8 AR SRR LT R R B 17.4] 7.0 3.0 1.3 436.0| P C1& 1989 |TL -20 |@frHIR ML
7.0l 3.0l 1.3 AT

R¥AE (EV) J AT 7K 2T 22.5 0.0 o0.0[ 0.8 675.8|RC#& + P CH& 1933 |BIEfE  [W@ITHIFE 2L
10.7] 0.0 0.5 AT

REHE (F0) J T 7K T 18.1] 3.3 0.0 2.5 247. 1| P CH% 1978 |[TL - 20 [@frR ML
6.6] 2.5 2.0 AT

I\ A J AT RS- ARG AT - 7% & 25.5 0.0 0.0 0.0 675.8| P CH& 2023 |BiEfrE  |EITHIR MEL
4.1 0.0/ 0.9 HAAMAT
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Eis) 2 i & P 4 SE R m | [ R OB | /R | it 2 Bon -
KRR doE | AE | BE
(BRI, T B f ) m (BB Y, FEF0) i
NG (ED) 5 T R AR T 25.5 6.6] 2.3 0.0 675. 8| P C#& 2021 |BY&ffEE [WEATHIE MEL
0.0l 0.0 0.0 AT
LA JS A T R JH: vE BT i 2.5 3.3] 0.0/ 1.3 28. 3[R CH 1933 |TL-20 |@frhiR ML
3.3] 1.6] 1.1 AT
I\ A T T RS v T S i 0.7| 4.5/ 0.0 0.7 6.5|R CH& 1933 [TL-20 [@fTHIE ML
3.4 1.7 0.7 AT
Tkt JS AT R TR R AT 42 i S 177.2] 3.3| 0.0l 0.4 1,293.9|R CHE 1955 |BiGfiE  |@ATHIR  fEL
A o] VA A K T/ R P T 3.3] 0.0l 0.4 AL N—HF

19

2/2R—=




FI0F =
B4 0 0003 BliE
TR |
(X i & Fr T 4 E R m | oA R ORI | AR | T B i &
S R doiE | g | wd
(RBE R, B RS m (LB Y, FE:FD) nf
IAAKGERER (/) SRR FERL LT R TN A 731 0.0l 2.6/ 0.0 14. 6] R CH& 1933 —
0.0l 2.6 0.0 BT
BREMEALERE (/) SRR LT KT NE 41.0/ 0.0 1.0| 0.0 82. O|SHVA+4E 1996 —
0.0] 1.0/ 0.0 B fdiAT
JERTHEMLER () AR LR R AT 38.2 0.0 1.0 0.0 76. 4| P CH6 1989 —
0.0] 1.0/ 0.0 B AT
HOLBMLER (4) SARSLAREL LT KRB 34.6| 0.0 1.2 0.0 72.7|P CH5 1968 —
0.0] 1.2 0.0 B AT
TRAEHNER () ST K SR 22.0] 0.0 1.3] 0.0 55. 0| H7R 4 1975 —
0.0 1.3 0.0 B AT
HEBRER F) AT T K7 B MR T 2 A o 3.4 0.0 1.1 0.0 7.7|P CHE 1981 —
0.0 1.1/ 0.0 BT
HERER (o) ST KT AR T AR i 6.4 0.0l 0.7/ 0.0 6.7| P CH& 1981 —
0.0l 0.7] 0.0 AT
L FGIER () AT R 7 B R T 2 A o 5.3 0.0l 1.1 0.0 11.9|P CH% 1981 —
0.0] 1.1/ 0.0 AT
2 BRER (2) R T R R R T 2 A B 5.9 0.0l 0.8] 0.0 8.8|R C 1% 1981 —
0.0] 0.8/ 0.0 AT
I\ RERLER (F) TS AT R T ARIRT T 794 & 19.2) 0.0 1.0] 0.0 38.5| P CH& 1982 —
0.0] 1.0 0.0 AT
JUS EGERE (A2) BT R T R AR T Y A 2.6 0.0 0.5/ 0.0 2.6|R CHG 1980 —
0.0] 0.5 0.0 HAAAT
TREMEMRER (4) AT R TR R T 2 B 181.0[ 0.0 1.0 0.0 362. 0| HZU4H 1980 —
e o] VAR K i /N AR B T 0.0] 1.0 0.0 HifdiAT
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